X T = E
AEEXKEEIBIEEXRTIE) No.1
I & -# B iR 1% = REtEE | BAL | B
<@EEYIWELI>
W) -MEEMEURL (SPEEY ANETL 1.46+0.26= 17 2
(FE11ZME+FE21%0) m3
<EfRuEIT>
BOE Mk $BEHIVY -k 2
m3
=5 $BEHIVY -k 2
m3
<HFHBEERD
HIEEIR BEh - EEEY 1 1
ANDITER 24-12-25(20) %@ =®
<HBEI>
BT E D16 ANAHITEX HEHEELY 46.0 46.0
24-12-25(20)% 5@ m




T = =
AEBKEEIBIR(EITE) No.2
I & -# B iR = REtEE | BAL | B
<ERAKEMZRELI>
ERRAMGEMSRE HEFEE LY 46.0 46.0
m
ERRAMLEMMFEE (AL -LE C(SP)FE HEFEEZ LY 46.0 46.0
m
18 R R T 1 1
&
<PKEEHRET>
BEKE HEFEE LY 4.2 4
m [14%/1.05m
HEKEMHEE RKiR7 V—p—1{KE BEHEELY 4 4
SUS304 ¢ 202 [E03i
<BIEHOKEEREI>
K ERE HEFEE LY 3 3
E13i
<RBHZI>
15 ke 110 110
106.6m?2 m2
f 15 Vil 30 30
25.1m2 m2




A T FE H =
AREXKEEIBTIEHIE) No.1
I 7 - # B iR 1% g =® RETHE | B | B
<@EEYIWELI>
W) -MEEMEUEL |HPEEYM AN 1.38= 14 1
(5272 M) m3
<EfRLET>
BOE Mk $EnaIvn) % 1
m3
A5 EnIvn) % 1
m3
<HrEBEI
EBILE 11E:&E Y 4 Y IBIE~{KT5:0.002 1 1
FR— ARV, LY B E s E g | S 0 0.2%0.15%0.05=0.002 EiEY
<HEBEHERD
HixEIR K- EOEEY 1 1
ANHITEE 24-12-25(20)E @ =
<HBEI>
BRTTHE D16 ANAITEX HEHEELY 30.9 31.0
24-12-25(20)% @ m




& T = B = 5 =
AEBKEEBIIEMEISE) No.2
I & -# B iR g = REtEE | BAL | B =
<ERAKEMZRELI>
ERRAMGEMSRE HEFEE LY 30.9 31.0
m
ERRAMLEMMFEE (AL -LE C(SP)FE HEFEEZ LY 30.9 31.0
m
<PKEEHRET>
BEKE HEFEE LY 4.2 4
m |[124%/1.05m
HEKEMHE RKiR7 V—p—1{KE BEHEELY 4 4
SUS304 ¢ 202 [E03i
<BIEHOKEEREI>
XK ERE HEFEE LY 4 4
E13i
<RBHZI>
f 15 212 90 90
85.3m2 m2




ME THER

iR (21K)

14D
T & B - M Bl i % =<Ky B fi G2
WriE & T W &R M=o 7 U — b m3 0.2128 BUAE
B V=LA NREVIN m3 0.0015 EAMT
lfe T m2 2.3 HAEH
3A L — /L H=850
YRR G 5 & Al U o X B m 76.9 2R
R HEE L BERR B i R IE & m 76.9
2R
WERR A i = S 7 U — h m3 3.1 (H =B +AETE)
HEE PR m 76. 9
HB1E 10 Sy 7 U — |k m3 5.8
AT m2 38.7
N ER D16 kg 484
) KR L— b — Bk e & 8. 4m
HEKEEE R E T HEKAE 5% 15 SUS304 ¢ 202 & 8.0 14724 0 L=1. 05m
B4 H & AT 8.0
7.35m2
BEKEE 5 i 7.0 14724 0 L=1. 05m
TR ALEE T iR I a7 ) — ik (CE) m3 3.1
LSy m3 3.1
e T 5 PCAE & m2 217.0
Mk Y BT m2 217.0
L — MEY Bh#T m2 217.0




ME THER

ik (KRIE)

14D
T & ]| I b5zl ¥ =<Ky gy fi G2
BiE
WriE & T W &R a7 U — R m3 0. 1584 A A+ EL
il fe T m2 1.6 HAEH
A L— L, H=850
B i T 5 R Al U o &R m 46. 0 s
R HEME L BERR M i B R m 46. 0
2k
WERR A i = S 7 U — hk m3 1.7 (M FB AR )
HEE PR m 46. 0
HB1E 10 Sy 7 U— |k m3 3.5
AR T m2 23.2
N ER D16 kg 295
) ) KR L— b — Ik e & 4. 2m
HEKEEE R E T BEKE R E SUS304 ¢ 202 (S 4.0 14724 0 L=1. 05m
B4 H fE T 4.0
3. 15m
BEKEE 5 T 3.0 14724 0 L=1. 05m
SERALER T kI a7 ) — bk (B%) m3 1.7
XLy m3 1.7
e T I PCAE i & m2 131.7
Mk Y BT m2 131.7
T— MRV BT m2 131. 7




e TEEREL (i T5)

14D
T & ]| I i % BANT gy i C:
BiE
W {E1E T W &R a2 U —h m3 0. 0544 ARARER D F
B V=LA NREVIN m3 0.0015 EAMT
lfe T m2 0.8 HAEH
3A L — L H=850
YRR G 5 & Al U o X B m 30.9
R HEE L BERR B i R IE & m 30.9
2R
BERR M S 7 U — h m3 1.4 (H =B +AETE)
HEE PR m 30.9
HB1E 10 B 7 ) — m3 2.3
AR T m2 15.5
NS D16 kg 189
) KR L— b — Bk e & 4. 2m
HEACEEAE T PR E R E SUS304 ¢ 202 f& T 4.0 1574 Y L=1. 05m
Huft 4 B & AT 4.0
4. 2m
BEKEE 5 i 4.0 14724 0 L=1. 05m
TER LR T R a7 Y — bk (%) m3 1.4
LSy m3 1.4
JEB T 5 PCAE & m2 85.3
Mk Y BT m2 85. 3
2— MRV T m2 85.3




1XHY

WrimifetE T SEERE
TE B« AR jsil AN & T =
Wr i & 18 ML s J—h m3 0.2128 BikE
K )=t py b REV m3 0.0015 Bl
TP T m2 2.3 BAEH




4 i) it A =\ B =
Wrim &8 1T
EARES Btk sHE S (OREER+IERER) W &1
(KL= V1 = (0.40+0.25) X0.67/2%0.25+0. 55X 0. 15X 0. 30 = 0.079
V2 = (0.40+0.25) X0.67/2X0.25+0. 55X 0. 15X 0. 30 = 0.079
m3
iy = 0.158 m3 0. 158
2P Btk SHE (RO H) W &1
(T L) V1 = (0.40+0.25) X0.67/2X0.25 = 0. 054
m3
HFk = 0.054 m3 0. 054
AT <tk Wrim & 18
V1 = 0.20%0.15%0.05 = 0. 0015
m3
iy = 0.0015 m3 0.0015
2R WM 3R ORILEE : 2@, A4 L5« 16&E7) T T
A = ((0.40+0.25) X0.67/2X2+0. 25X 0. 67+0. 25X 0. 69) X3
= 2.33 m2
&l = 2.33 m2 2.33
ARTHE  2f40T TR T
A = ((0.40+0. 25) X0.67/2X2+0. 25X 0. 67+0. 25 X 0. 69) X2
= 1.55
s d & AU T

A = ((0.40+0. 25) X0.67/2X2+0. 25X 0. 67+0. 25X 0. 69) X1
= 0.78




SHEEMAIE T FddEdtE

AT

B &

HAL

il

By R O

3R L— L H=850
Ho Xt kB

76.9




4 i) i A =\ B =
B E T
gk PhmmcE: (Ewmp) ERE
L = 19.41 19. 41 m
iy 19.41 19.41
AT
L = 19.41 = 19.41
T
L =0 = 0. 00
PHEMECE (R ERE
L = 19.41 19. 41 m
iy 19.41 19.41
AT
L = 19.41 = 19.41
T
L =0 = 0. 00
FIRM A
o5 36 T HiL R
L = 19.41+19. 41 38. 82 m
HFk 38. 82 38. 82
ATHE
L = 19.41+19.41 = 38. 82
i L
L = 0.00+0.00 = 0. 00
B E T
gl PhMmEmcE: (Ewmp) ERE
L = 19.04 19. 04 m
iy 19. 04 19. 04
AT
L = 4.33 = 4.33
T
L = 14.71 = 14.71
PHEMECE (R ERE
L = 19.04 19. 04 m
iy 19. 04 19. 04
AT
L = 2.87 = 2.87
T
L = 16.17 = 16. 17
HoRM A
o5 36 T HiL R
L = 19.04+19. 04 38. 08 m
aFk 38. 08 38. 08
ATHE
L = 4.33+2.87 = 7.20
i L
L = 14.71+16.17 = 30. 88




% &t 2 £ B &
B E T
AN R (B 1R+ 21
PigsmEcs (2F)
L = 38.82+38.08 76.90 m
aFk 76. 90 76. 90
ATH
L = 38.82+7.20 46. 02 m
iy 46. 02 46. 02
i T
L = 0.00+30.88 30. 88 m
HFk 30. 88 30. 88




B EME T EERE ‘
1XHY
i 11 I #l ¥ ==¥va & i =
BERX M i Bt & m 76. 9
2R
PR i = Gr=a 7 U — bk m3 3.1 (7 A
W N R m 76.9
2R
AT Bz 7Y — b 3 5.8 | CHBECREE)
T T, m2 38.7
MR ER T D16 kg 484




% iF " EN % &
T g s L
gk BERRHE R (LM itk
L = 19.41 19. 41 m
iy 19.41 m 19.41
AT
L = 19.41 = 19.41 m
T
L =0 = 0.00 m
BER i« M
V = 0.10X0.30X19. 41 = 0.58
BERX B - A (LT » v=0. 02m3)
V = 0.02X6 0.12 m3
iy 0.70 m3 0. 70
ARITEHE : #EE
V = 0.10X0.30X19.41 = 0.58 m3
AT (UEFTH Y v=0.02m3)
V = 0.02X6 = 0.12 m3
1 T - s
V = 0.10X0.30X0.00 = 0.00 m3
{4 L& - AR (LFEATHS © v=0. 02m3)
V = 0.02X0 = 0.00 m3
BERC MBS (i) fER
L = 19.41 19. 41 m
iy 19.41 m 19. 41
AT
L = 19.41 = 19.41 m
T
L =0 = 0.00 m
BER i« M
V = 0.10X0.30X19. 41 = 0.58
BERX B - A (LTS » v=0. 02m3)
V = 0.02%X9 0.18 m3
iy 0.76 m3 0.76
ARITEHE : #EE
V = 0.10X0.30X19.41 = 0.58 m3
AT (UEFTH Y v=0.02m3)
V = 0.02X9 = 0.18 m3
1 T - s
V = 0.10X0.30X0.00 = 0.00 m3
{34 L - AR (LTS O v=0. 02m3)
V = 0.02X0 = 0.00 m3
FIRM A
RERX M i B R
L = 19.41+19.41 38. 82 m
&t 38.82 m 38. 82
ATHE
L = 19.41+19. 41 = 38.82 m
i L
L = 0.00+0.00 = 0.00 m




4 i) i A =\ B =
RS T
gk BER I R 2=
V = 0.70+0.76 1.46 m3
iy 1.46 m3 1.46
AT
V = 0.70+0.76 = 1.46 m3
T
V = 0.00+0.00 = 0.00 m3
gl BEREHE R (LM itk
L = 19.04 19. 04 m
iy 19.04 m 19. 04
AT
L = 4.33 = 4.33 m
T
L = 14.71 = 14.71 m
BER i - M
V = 0.10X0.30X19. 04 = 0.57
BERX HIFE M - A (LTS » v=0. 02m3)
V = 0.02%X12 0.24 m3
iy 0.81 m3 0.81
ARITEH : B
V = 0.10X0.30X4.33 = 0.13 m3
AT AR (IEFTS Y V=0. 02m3)
V = 0.02%x1 = 0.02 m3
1 T M
V = 0.10X0.30X14.71 = 0.44 m3
{4 L& - AR (LEATHS © v=0. 02m3)
V = 0.02Xx11 = 0.22 m3
BERC MBS (i) fER
L = 19.04 19. 04 m
iy 19.04 m 19. 04
AT
L = 2.87 = 2.87 m
T
L = 16.17 = 16.17 m
BERE i - M
V = 0.10X0.30X19. 04 = 0.57
BERX HIFE M - A (LTS » v=0. 02m3)
V = 0.02%X13 0.26 m3
iy 0.83 m3 0.83
ARITEHE : #EE
V = 0.10X0.30X2.87 = 0.09 m3
AT AR (IEFTS Y V=0. 02m3)
V = 0.02%x1 = 0.02 m3
1 T M
V = 0.10X0.30X16. 17 = 0.48 m3
{34 L& - AR (LTS v=0. 02m3)
V = 0.02x12 = 0.24 m3




% E " = B &
T g s L
gl FoREAET
RERX M B R
L = 19.04+19.04 = 38. 08 m
&t = 38.08 m 38. 08
ATHE
L = 4.33+2.87 = 7.20 m
i L
L = 14.71+16.17 = 30.88 m
B 5% 7 i 2=
V = 0.81+0.83 = 1.64 m3
aFk = 1.64 m3 1.64
ATHE
V = 0.15+0.11 = 0.26 m3
i L
V = 0.66+0.72 = 1.38 m3
AR EXINC AR PRI
MEs B EEE (2F)
L = 38.82+38.08 = 76.90 m
iy = 76.90 m 76.90
MR EERE (KTH)
L = 38.82+47.20 = 46. 02 m
aFt = 46.02 m 46. 02
BERC MBS IE R (RHF L2
L = 0.00+30.88 = 30. 88 m
iy = 30.88 m 30. 88
EXUNC AR P22 3]
BERX R E (2R)
V = 1.46+1.64 = 3.10 m3
aFk = 3.10 m3 3.10
BERC B E (R 1)
V = 1.46+0.26 = 1.72 m3
iy = 1.72 m3 1.72
REGR A (fHHF )
V = 0.00+1.38 = 1.38 m3
aFk = 1.38 m3 1.38




4 B i A N % B
TR A & T
M WEEE (B R
L = 19.41 19. 41 m
&t 19.41 m 19. 41
ATEHE
L = 19.41 = 19.41 m
AT
L =0 = 0.00 m
HWBEIE (Ejm)  ~HE
V = 0.25%0.30X19.41 1. 46 m3
&t 1.46 m3 1.46
ATEHE
V = 0.25%0.30X19. 41 = 1.46 m3
AT
V = 0.25X0.30X0. 00 = 0.00 m3
WEEIR (FHM) TR
L = 19.41 19. 41 m
&t 19.41 m 19. 41
ATEHE
L = 19.41 = 19.41 m
AT
L =0 = 0.00 m
WEEIR (FHM)  ~Hk
V = 0.25%0.30X19.41 1. 46 m3
&t 1.46 m3 1.46
ATEHE
V = 0.25%0.30X19. 41 = 1.46 m3
AT
V = 0.25X0.30X0.00 = 0.00 m3
FIRMEF
P AR
L = 19.41+19. 41 38. 82 m
&t 38.82 m 38. 82
ATH
L = 19.41+19. 41 = 38.82 m
AH T
L = 0.00+0.00 = 0.00 m
M|
V = 1.46+1.46 2.92 n3
&t 2.92 m3 2.92
ATH
V = 1.46+1.46 = 2.92 m3
AHTE
V = 0.00+0.00 = 0.00 m3




4 B i A N % B
TR A & T
LM WEEE (B R
L = 19.04 19. 04 m
&t 19.04 m 19. 04
ATEHE
L = 4.33 = 4.33 m
AT
L = 14.71 = 14.71 m
HWBEIE (Ejm)  ~HE
V = 0.25%0.30X19. 04 1.43 m3
&t 1.43 m3 1.43
ATEHE
V = 0.25%0.30X4.33 = 0.33 m3
AT
V = 0.25%0.30X14. 71 = 1.10 m3
WEEIR (FHM) TR
L = 19.04 19. 04 m
&t 19.04 m 19. 04
ATEHE
L = 2.87 = 2.87 m
AT
L = 16.17 = 16.17 m
WEEIR (FHM)  ~Hk
V = 0.25X0.30X19.04 1.43 m3
&t 1.43 m3 1.43
ATEHE
V = 0.25X0.30X2.87 = 0.22 m3
AT
V = 0.25%0.30X16.17 = 1.21 m3
ForRi A E
P AR
L = 19.04+19. 04 38. 08 m
&t 38.08 m 38. 08
ATH
L = 4.33+2.87 = 7.20 m
AH T
L = 14.71+16.17 = 30.88 m
M|
V = 1.43+1.43 2.86 n3
&t 2.86 m3 2.86
ATH
V = 0.33+0.22 = 0.55 m3
AHTE
V = 1.10+1.21 = 2.31 m3




4 i it & z\ B &=
R B & L
LN e ING AR P
MEEALER (2K)
L = 38.82+38.08 76. 90 m
At 76.90 m 76. 90
AILEH
L = 38.82+7.20 46. 02 m
At 46.02 m 46. 02
fifa TE
L = 0.00+30.88 30. 88 m
At 30.88 m 30. 88
AR (G5 1R M+ E 2R )
WEEH (2F)
V = 2.92+2.86 5.78 m3
At 5.78 m3 5.78
ATH
V. = 2.92+0.55 3.47 m3
At 3.47 m3 3. 47
P4 T
V. = 0.00+2.31 2.31 m3
At 2.31 m3 2.31
£ AT ()
A = (0.25+0.25) X19.41+ (0.30X0.10) X2 9.77 m2
At 9.77 m2 9.77
ATHE
A = (0.25+0.25) Xx19.41+ (0.30X0.10) X2 = 9.77 m2
fifa TE
A = (0.25+0.25) Xx0.00+ (0.30X0.10) X0 = 0.00 m2
AR T (CH )
A = (0.25+0.25) X19.41+ (0.30X0.10) X2 9.77 m2
At 9.77 m2 9.77
ATHE
A = (0.25+0.25) Xx19.41+ (0.30X0.10) X2 = 9.77 m2
fifa TE
A =0 = 0.00 m2
FIRMET
fFIJ;lriﬁgI
A = 9.77+9.77 19. 54 m
&t 19. 54 m2 19. 54
AILEH
A = 9.77+9.77 = 19.54 m2
i1 T
A = 0.00+0. 00 = 0.00 m2




i B &=
HIRE T (R
A = (0.25+0.25) X19.04+ (0.30X0.10) 9.58 m2
9.58 m2 9.58
AL=E
A = (0.25+0.25) X4.33+ (0.30%0.10) 2.20 m2
3 T
A = (0.25+0.25) X14.71+ (0.30%0. 10) 7.38 m2
BIRE T (R
A = (0.25+0.25) X19.04+ (0.30X0.10) 9.58 m2
9.58 m2 9.58
AL=E
A = (0.25+0.25) X2.87+ (0.30%0.10) 1.47 m2
3 T
A = (0.25+0.25) X16.17+ (0.30%0. 10) 8. 11 m2
HorRH A E
AT
A = 9.58+9.58 19. 16 m
19.16 m2 19. 16
ATHE
A = 2.20+1.47 3.67 m2
fifa TE
A = 7.38+8.11 15.49 m2
e NG AR P
P T
A = 19.54+19. 16 38. 70 m2
38.70 m2 38. 70
KT m2
A = 19.54+3.67 23.21 m2 23. 21
fh L& m2
A = 0.00+15.49 15.49 m2 15. 49

BRI
300
3
3 =
=
Q|
3 o
&
\




4 R At 5 =N &
&g W Afifs 1T
ke it PNERERAH H1 D16 SD345
L=0.566 A#L 260 A HALHEE 1.56 1A% HEO. S8
W1 = 260x0.88 = 229 kg
PNERELfH H2 D16 SD345
L=4. 780 A%k oA BNTEE 1.56 1AMV EET. 46
Wl = 2X7.46 = 15 kg
PNERERAH H3 D16 SD345
L=4.710 A% oA WArER 1.56 1AMV EHET. 35
Wl = 2x7.35 = 15 kg
PNERELRH H4 D16 SD345
L=2.120 A%k 4 HATEER 1.56 1A 0 B3 31
Wl = 4x3.31 = 13 kg
PNERERAH H5 D16 SD345
L=7.000 A%% 8A HMEE 1.56 1AMV HEEI0.92
W1 = 8x10.92 = 87 kg
BIEMAFT
EEN RN
W = 229+15+15+13+87 359 Kg
&t = 359 Kg 359
pepedit PNERERAH 16 D16 SD345
L=6.060 A% 4K HALEE 1.56 1AY Y HEI. 45
W1 = 4x9.45 = 38 kg
PRk H5 D16 SD345
L=7.000 A%k 8A HAMIEE 1.56 1AM Y EE10.92
Wl = 8x10.92 = 87 kg
BIEMAFT
EEN RN
W = 38+87 125 Kg
&t 125 Kg 125
&t BTN
W = 359+125 484 Kg
&t 484 Kg 484




4 R At 5 =\ o o=
&g W Afifs 1T
N PNERERAH H1 D16 SD345
L=0.566 %% 157K HfLE#E 1.56 1KY D HEO. 88
W1 = 157x0.88 = 138 kg
PNERELfH H2 D16 SD345
L=4. 780 A%k oA BNTEE 1.56 1AMV EET. 46
Wl = 2X7.46 = 15 kg
PNERERAH H3 D16 SD345
L=4.710 A% oA WArER 1.56 1AMV EHET. 35
Wl = 2x7.35 = 15 kg
PNERELRH H4 D16 SD345
L=2.120 A%k 4 HATEER 1.56 1A 0 B3 31
Wl = 4x3.31 = 13 kg
PNERERAH H5 D16 SD345
L=7.000 A%% 8A HMEE 1.56 1AMV HEEI0.92
W1 = 8x10.92 = 87 kg
PNERELfH H6 D16 SD345
L=4.280 A% 4 BNTEE 1.56 1AMV EE6. 68
Wl = 4x6.68 = 27 kg
At PR
W = 138+15+15+13+87+27 295 Kg
&t = 295 Kg 295




4 R At 5 =\ o o=
&g W Afifs 1T
fh T PNERERAH H1 D16 SD345
L=0.566 %% 103K HLfZE#F 1.56 1KY D HEO0. 88
W1 = 103x0.88 = 91 kg
PNERELfH H2 D16 SD345
L=4. 780 A%k 04 HAFEE 1.56 1AM EET. 46
Wl = 0x7.46 = 0 kg
PNERERAH H3 D16 SD345
L=4.710 A% O HArER 1.56 1AMV ERET. 35
Wl = 0x7.35 = 0 kg
PNERELRH H4 D16 SD345
L=2.120 A%k 04 HAFEE 1.56 1Ay BEES. 31
Wl = 0x3.31 = 0 kg
PNERERAH H5 D16 SD345
L=7.000 A%% 8A HMEE 1.56 1AMV HEEI0.92
W1 = 8x10.92 = 87 kg
PNERELfH H6 D16 SD345
L=1.780 A%k 4 BNTEE 1.56 1AMV EE2. 78
Wl = 4x2.78 = 11 kg
At PR
W = 91+0+0+0+87+11 189 Kg
&t 189 Kg 189




PEAKISEAME T BEER R

1XHY
g | 1 | #H & ==¥va e = i} C2)
KTV — AT ek 5 8. 4m
HEAKE IS SUS304 ¢ 202 T T 8.0 LEE AT Y L=1. 05m
Buft 4 £ 7T 8.0
7.35m2

HKEME [E5B 7.0 14 9L=1.05m




4 W

At i3 2V

e

%

BEAKE

s
T

PEKE L

KT L— b — AR E  SUS304 ¢ 202 1fEATY Y L=1.05m
HEE N=8H&fT
L = 1.05X8 -

8. 40

Hufr4:H. SUS304
FHEE N=8t&fT
N 8 =

8.40 m

KR L— b — AR KEERE  SUS304 ¢ 202 1f& T4 v L=1. 05m
AT H REH N=4fEHT
L = 1.05%X4 =

P T BRE N=4&75T

L = 1.05X4 =
Huft4: B SUS304
AT EH FHIEE N=4FPT

N = 4 =

I TH gxiEE N=4fET

4 T

W
=
Tl

AT N=3fE A
L = 1.05%3 -

fHE T N=4fEpT
L = 1.05x4 -

EN]
B
=l

3 AT

W
=
Tl

8.40

B
3




EMLFE T EEHR ‘
B

(LI i s B ¥ HAL % il =

il

O a7V — bk ) m3 3.1




4 i) it B =\ ¥ &
TEHR LB T BOE 2k

R MBRHE T LY m3
vV = 3.10 = 3.10 m3 3. 10

LR

ARTH
V = 1.72 = 1.70 m3

f4 L&
V = 1.38 = 1.40 m3




YT BEEEE

1XHY
g | 1 | #H & ==¥va = i} C2)
mEY PCHG A& H /& 5% m2 217.0
Mk Y BhE T m2 217.0
— hEV BLRET m2 217.0




= TR 8 ¥ =N
4 R 5 L =N W&
BT
w e PCIEMIEH 255
BN (&)
A = 5.8X18.37 106. 55 m2
&t 106.55 m2 106. 55
ATH
A = 5.8X18.37 = 106.55 m2
£ T3
A = 5.8X0.00 = 0.00 m2
ok (&F)
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